Algebra II	NAME ________________________________
Writing and Solving Linear Inequalities
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Problem 1

Jasonis buying wings and hot dogs for a party. One
package of wings costs $7. Hot dogs cost $4 per pound.
He must spend less than $40.

+Write an inequality to represent the cost of Jason’s food
for the party.

«Jason knows that he will be buying atleast 5 pounds of
hotdogs. Write an inequality to represent this situation.

+Graph both inequalities and shade the intersection.

«Identify two solutions and justify your answers.

Problem 2

The boys and girls soccer clubs are trying to raise money
for new uniforms. The boys’ soccer club is selling candy
bars for $2 a piece and the girls’ soccer club is selling
candles for $4. They must raise more than $800.

+Write an inequality to express the income from the two
fundraisers.

+The girls expect to sell at least 100 candles. Write an
inequality to represent this situation.

+Graph both inequalities on a grid and shade the
intersection.

«Give two possible solutions to this system. Justify your
answer.
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Sarahis selling bracelets and earrings to make money for
summer vacation. The bracelets cost $2 and earrings
cost$3. She needs to make at least $500.

+Write an inequality to represent the income from the
jewelry sold.

+Sarah knows that she will sell more than 50 bracelets.
Write an inequality to represent this situation.

+Graph the two inequalities and shade the intersection.

«Identify a solution. How many bracelets and earrings
could Sarah sell?

Solution:

Step1: Highlight the important information in the
problem.

Sarah is selling bracelets and earrings to make money for
summer vacation. The and
$3. Sheneedsto make

Step2: Identify your variables.
We know how much the bracelets and earrings
cost, but we don'tknow how many of each she needs
tosell

Letx = the number of bracelets sold.
Lety = the number of earrings sold.

Step3:
+Write an inequality to represent the income from the jewelry
sold.

2x+ 3y 2500

Here's how | came up with this inequality

x o+ 3y > 500
+

52 times $3times  atleast sheneeds

the# the# $500

ofbracelets  of earrings




